o(d dxy) (cm)
o(d dz) (cm)

1072

n
L

1 RN R A -2 AR A AR A O R Y . &

g
—

o
I
s
=
I o
A
'

Rati

il i H i 095 i i T i i i
-2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
—=— DQM_V0001_R000000001_Global _mKFitbase__RECO mline)
—e— DQM_V0001_R000000001 _Global_mkFitCHIN_RECO
—— DQM_V0001_R000000001_Global_mkFitNDOF_ RECO
—— DQM V0001 R000000001 _Global__mkFitNDOF2_ RECO

1 d

o(d @) (rad)
o(3p_/p.)

10_2_.5 '::::'E':::':E::::.:'."':::::::::E 10_1__5"

é—O_%_! 11 1 : I T - l ] 11 ! 1] 1 l 1 1 1 | 1111 : 6—0% i 1 111 111 1 ! ] 11 1] 1 I 11111
*(.-5‘ H: : : ! : %
o 1 x

1k : : b e 1

o
©
a

3 2 -1 0 1 2 3 09351 o0 1 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)




	Contents
	Page 1


